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O&II=d LAHF 500,000& * 13| 500
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Chelr AEEM2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o= M2 120,000& * 13/ 120
202 44l 910 728 182
01 = LH o4 1l 910 728 182
O&= ETH2U3 ZFItoHI
75,8008 * 4% x 3 910
206 = Hl 8,250 17,550 A9,300
01 MHZ 4l 8,250 17,550 29,300
OMItE=EUHE 3,000& = 2004 600
OXZ Al AFQIAIAE 100,000& * 107H 1,000
OEMd B8 HY 150,000& » 62 900
OXNsSUHEEEI S5 EX
3,000& » 3002 900
OAMEE gL 2l 20,000& * 30H 600
oOFEXNzH 2¢ XM 4,250
Odl EA 25,000& * 5074 1,250
O2I18E 15,000& * 504 750
Ot 15,000& * 507K 750
Osll=st(ovoz & &) 50,000& * 30H 1,500
301 et a3z 4,160 11,776 AT7,616
11IIEtEA S 4,160 8,320 24,160
O MZEel XNASAX 234l
0,000& = 298 * 104 4,160
405 TtHabF S| 32,650 32,000 650
01 Mtare 22 S 32,650 32,000 650
oxza FI| 32,650
o722t SAM DL 900,000& * 224 19,800
O7ct2 HAl A DL 600,000& = 5H 3,000
O5H20t SHALA Dt 500,000& * 1JH 500
Osghltz 4 Hols 550,000& = 17CH 9,350
CHBNREE 198,300 186,620 11,680
201 Let24d] 40,300 32,820 7,480
02 2324l 40,300 32,820 7,480
oFJIAtdEE =2 40,300
Oos2X 15,000 * 220 Ab » 12& 3,960
OX X 13,0002 * 19JH AL = 12 2,964
O=F2tX 5,000& * 150H At = 52= 3,900
OZ2tX 11,0003 = 168IH AL » 123 22,176
O=U¢=2Xl 2¢ct2 CIoIEHolA H2t 0|2
= 7,300,000& = 13l 7,300
206 M= Hl 10,000 8,800 1,200
01 =8l 10,000 8,800 1,200
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OkAN HelES 10,000
ORFID TAG 500& * 10,0004 5,000
octg X2 9& 500& * 10,0004 5,000
405 TtabF S| 148,000 145,000 3,000
01 AL EFH S 3,000 0 3,000
O MNIIZE &X 3,000
O&EAMIISE 1,500,000& * 2CH 3,000
02 TN 145,000 145,000 0
O&A 145,000
Ogere A 12,500& = 10,0003 125,000
OFXAHE = (ZHOIXIAHIA)
50,000& » 400& 20,000
ANEE |X2e 508,932 499,679 9,253
201 L2l 376,308 319,568 56,740
02 =224l 376,308 317,568 58,740
olnzd BIFEI RA2e
35,0003 = 2CH = 123 840
OANAHNAHA ZH S22
2,500,000 * 23] 5,000
O3g ¥ g5y g2
500,000& * 54 2,500
OdstwEAAE X2l
1,280,000& * 128 15,360
O©CCTV =Xl 22l 338,000& * 40 * 12& 16,224
O NMZ BESIAAE KX 22 302,775
OEAMZ UESI SUEI X 22(86F)
800,000& = 4 * 12& 38,400
O Matel AlA" sXlatel 43,416
S8 ST AN
200,000& = 24l = 12& 4,800
-EMZe E20
275,000& * 9 = 123 29,700
~CIOIEfHI Ol A (DB) &2l 743,000€ * 128 8,916
OYAAAE X2 13,512
—SHAAIAE HH 270,0008 + 104 * 12E 3,240
- ATEQN  170,0008 * 241 * 128 4,080
- AEZ[X EHI
172,000& » 304 » 128 6,192
ORI ANAE SX 22l  460,000& » 128 5,520
OFEAMAE MHEX Sz 39,288
-8 /0B MH 500,000& * 3CH = 12& 18,000
-“EAEE MY 74,0003 « 123 888
-CIXNEXsY HAMt2elAH
200,000 = 12& 2,400
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-AECIA A 500,000& * 12& 6,000
-2HY S AH 100,000& = 12& 1,200
-HE= AU 250,000 = 12& 3,000
~HIEHE A A B 250,000& = 12& 3,000
RPN EL IR 125,000& = 12& 1,500
—EE2IA AAE AH 125,000& = 123 1,500
SR /S MY WEE A b
150,000& = 12& 1,800
OYsts AlAE X2
150,000& = 164] » 12& 28,800
ODBY S AIAE sAl2e
330,000& * 12& 3,960
OULH SHZEHSAAL X 22
220,000& * 34! x 128 7,920
OQHY AMEIA SA22 24,216
-E A& SHOIXA 102,000& * 98 = 12& 11,016
~TAZZROY HSHOIK SX2L
100,000& = 123 1,200
SDEERASOR EHOIX S22
200,000& = 12& 2,400
HMOIEHE"SHOIN S 2R
200,000& = 12& 2,400
SRR OYHOIK S X
200,000& = 12& 2,400
el @ HOIX S
200,000& = 12& 2,400
-2CI2= @ HOX SXz2
200,000& = 12& 2,400
OZAKE HEAAE S22
300,000& = 12& 3,600
OPC 2 ZRIE |2
2,365,000 = 12& 28,380
Oslezga ¥ HRcTaH SXe
100,000& = 123 1,200
OUXEXEA OIBXHABR AL ST
= 2| 670,000& * 12& 8,040
ORFID AIAEI S22 56,523
KOt E/8r D1 (11TH)
439,200 * 404 « 128 21,082
—TAEAETIN(ZLHOE 1204)
296,000& * 41 = 12& 14,208
-XE b DI (50H)
242,000& * 401 = 12& 11,616
-APA 2 OlATE Reader Mrited| (24TH)
115,600& * 444 * 12& 5,549
S NEZD] 134,000& = 12& 1,608
“HSE A TIBAIAE
205,000 * 14 x 123 2,460
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ogzesrl 114,000& = 3MH A « 128 4,104
OFMS S Xl &2 440,000 = 4004 « 128 21,120
Osds 2UHEH 266,700& » 14 = 128 3,201
206 M= Hl 15,300 30,070 A14,770
01 M= 4l 15,300 30,070 A14,770
OAlg2tel XTH 15,300
(OFSIR=2- 4,800
-S=EXED ¥ HOIE, BHHIIRF
15,000& * 80H 1,200
- EEE HOIE & LELAAX]
25,0003 * 80H 2,000
-HEE2H0E B2 2 tFIF
40,0003 * 400H 1,600
OJIH &l 2225 5,400
St =832 105 20,000& * 50H 1,000
U 2EHMH2 158
20,0003 » 4004 800
-2 A= 60,000& * 407H 2,400
-24E M AgogE
30,0003 = 1004 = 400 A 1,200
ogssd IHH 1,800
-2E 2 SIS 6,000 = 300m 1,800
O™ &H(PC)XHH 900
-9 A Eetol 90,000& * 107H 900
O XM 2,400
-230, A8td HHIF
60,000& = 500 * 400 A 1,200
-RESF 60,0003 = 54 = 4JH A 1,200
401 AIEHI L 20HEI 117,324 150,041 A32,717
01 A& HI 117,324 150,041 N32,717
OJHANE SN2 18,000
O3JIx3t &l 1,500,000& = 671 9,000
Ozt B4l 100,000& * 15CH 1,500
O=ti= & & == A4
500,000& * 402 2,000
O#IY RULE &H| 50,0003 » 30CH 1,500
OXtS MO &l 2,000,000 * 27| 4,000
OHIINEZS RRE= 12,000
OX% & MEAIH 2,000,000& * 400 A 8,000
O=&4dl SXNE=+ 1,000,000& = 404 A 4,000
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OALYANEE RAES 8,000
OXts StMERX &I 2,000,000& * 40 A 8,000
OHHEI KRS+ 24,980
ONBEM2 ST A2
5,000,000& = 27| 10,000
ONBENZ 2RI A2
40,000  1320H 5,280
OOl=&EHASCR B2 M=
1,700,000& = 13l 1,700
OAl A" HED| 2,000,000& * 400 A& 8,000
OANBE M2 HHEI] ZHLA 4,100
Oblsgd 110,000& * 304 3,300
Oo=Zelgd 20,000& * 4004 800
OANBEEZNZ ARA(BE) 222
10,000,000& * 1JH A 10,000
OFJAEZ M X=F=eHUEXE &X
5,000,000& * 1JH A 5,000
OHE RAEF 30,244
OANEE M2 2,939& = 5,370m 15,783
OFAEMZ 2,2573& = 2,623m 5,921
Oag 4z 1,210& = 2,681m 3,245
Oll=dxAR02 2,257& = 2,346m 5,295
OCNZ RPENMNMATX IHC LA
100,000& * 20H 2,000
MO=HE M= A0S E M 65,000
201 Let24E] 61,000
03 & Ar2 I 61,000
OHEZAN 12,500& = 1,500& * 23] 37,500
OEMN 2EE AEIA 500& = 1,50000 = 23l 1,500
O#A EE2H| 20,000
O« Z A 5,000,000& * 23l 10,000
(@F=3-1:] 5,000,000& = 23l 10,000
ozg=+¢ 2,000
OSZE2M(EdEEAM =It) 500,0008 * 29 1,000
OEE3 & 50,000& = 10¥ = 23l 1,000
301 LBrE A 4,000
09 SALAHIEA S 4,000
O"Hol= HF" #A2E FAT =S|
7,000& * 208 x 203 2,800
OHMANE=EEHF NFSAL HHIXR
20,000& = 10¥ = 63l 1,200
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SESENMBNZA AT 2H 92,100 90,000 2,100
2 46,050
= 23,025
Al 23,025
101 @124 Hl 92,100 90,000 2,100
= 46,050
< 23,025
Al 23,025
04 D12t Z2XEES 92,100 90,000 2,100
OJIZtH 22X 2= 92,100,000 92,100
= 46,050
= 23,025
Al 23,025
N2 =4 141,981 174,376 A 32,395
101 @14l 14,781 24,076 A9,295
04 JI2ZtHZ22HEE = 14,781 24,076 A9,295
O=3lALM 29 1 ol
50,000& = 1 » 26 10 13,000
O=3lAtM EZ F 1| 200,000& = 23l 400
O4liMaIBE Z 1,381
O=0gd= Bg= 13,000,000& * 4.5% 585
OILHLERE B3
13,000,000 = 2.995% 390
OFIIRLEE= £E= 390,000& * 6.55% 26
OCLELEEZ B3 13,000,000& * 1.5% 195
Ot = 2= 13,000,000& = 1.42% 185
201 Let24E] 1,200 4,000 A 2,800
03 A2 I 1,200 0 1,200
OXSE N2 22X /23S 900
OZA= 300,000& = 29 600
OMdgE 202 100,000& * 29 200
OM = dl 100,000& * 13/ 100
ORYEASENZ 83 A=Y
100,000& » 39H 300
307 glz2tol & 26,000 46,000 220,000
02 It S AHE L 26,000 46,000 A20,000
oxs Mz 2498 XA 26,000
O2Y 2z M2 XE(ASS)
7,000,000& * 1004 7,000
O2Y 2z M2 XEBSS)
5,000,000& =* 20H A 10,000
O2Y 2z M2 XE(CS3)
3,000,000& = 30H A 9,000
402 RI2EX20l A 100,000 10,000 90,000




SN BMDSE BFEANYSAD
IM: BTSN Y
Selr NEEAE 29 (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 QIZEXIE2AIE 2 X 100,000 10,000 90,000
OEM7Hl 100,000
OX2T A2 EAHF72H XA
4,000,000& * 2500 A 100,000
Mo 2 SH ASEAY 24,000 45,000 A 21,000
= 7,200
Al 16,800
405 KHoHFE S HI 24,000 45,000 A 21,000
= 7,200
Al 16,800
01 XA E B F S| 24,000 45,000 A 21,000
OSSN T AR K& 24,000,000& 24,000
& 7,200
Al 16,800
=22 2229 8,380 7,600 780
201 gEt24y| 600 1,200 A 600
01 AP 22| H| 600 1,200 A 600
0OAZRE 2¢ 50,000 * 12& 600
301 et A= 2,080 0 2,080
11 J|EtE A2 2,080 0 2,080
OEMAE2l XNJASAKX &4
20,0008 « 19 = 104 2,080
405 Xt AHE S| 5,700 6,400 AT00
01 XA 2 E F S| 700 1,000 A 300
OAIZ2Y 700
Obtt2d =2 A M I} 700,000& « 1D 700
02 = AR 5,000 5,400 A 400
OEANTY 12,500& * 400& 5,000
YW EAS 29 8,550 7,800 750
201 2et2 Y| 4,800 4,800 0
01 Ak 2reltl 4,800 4,800 0
OZ2IYSY M2
80,000 * 6IHEF * 103 4,800
405 KHoHFE S HI 3,750 3,000 750
02 & A 2| 3,750 3,000 750
OEMTH 12,500& * 300& 3,750
U-EEEZ A2 olZet 235 252,800 34,310 218,490
201 et d| 23,000 21,310 1,690
01 AFR 2t 2| bl 23,000 21,310 1,690
OBEoHE BHAl ATEO AAl 15,000
opcE 35,000 = 20004 7,000
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OMHE 400,000& = 204 8,000
OPCE 2ZEYH 7 100,000& * 80& 8,000
401 Al& Bl 28I 10,400 0 10,400
01 A& HI 10,400 0 10,400
OFAET M CCTV ==&4l wi
10,400,000 * 14l 10,400
405 XHobF S HI 219,400 13,000 206,400
01 XY 2 Z F S| 219,400 13,000 206,400
o0OgeE FFH LA 84,000
OANEEAM2 1,400,000& * 10CH 14,000
@F=g=g-=p R 1,400,000& * 20CH 28,000
OFAT A& 1,400,000& * 20CH 28,000
o8z 1,400,000& * 10CH 14,000
OgRE Zed A 5,400
OANEE A& 600,000 = 3CH 1,800
(OFg=gp i) 600,000  3CH 1,800
OFAT A& 600,000 = 2CH 1,200
O Mz 600,000& = 1CH 600
ORFID ZHI WA 124,000
Otstty 2ldll 3,000,000& * 7CH 21,000
OXILH &= BHE DI 28,000,000& * 30O 84,000
O MEaYXII 19,000,000& * 1CH 19,000
OEAMZ 240t0132 WHM  6,000,000& * 14 6,000
g2 245,332 252,096 N6, 764
= 19,320
< 9,660
Al 216,352
SN2 T NH2H 27,160 27,440 A 280
201 2et24d] 25,760 26,240 A 480
01 At 22l 2,750 2,700 50
O=ALZE 2,000& = 1,000 2,000
oOcNZ EE2 1,500& » 5008 750
03 A2 Z Hl 23,010 23,540 A530
O=sM=2stEZz20d 22 19,200
OZ M= 80,0003 = 1001 Bt * 243 19,200
O AMZ =2t A 370
OM8=Zzd 22l 300,000& * 13l 300
O 70,0002 * 104 70
O=AOY A 940
OMEE2Id 2994 300,000& = 13l 300
(@)= Eo 70,000 = 204 140
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OL28 2 100,000& * 5& 500
O3dI| Ols=2¢ =329 500,000& = 53| 2,500
301 et A= 1,400 1,200 200
09 SHAIAHI B A2 1,400 1,200 200
OSAHME3 T2 NIASALL =4
7,0008 * 10¥Y = 203 1,400
ANesgeta 29 19,550 50,699 A 31,149
201 Yet2 | 310 0 310
01 AP 22| H| 310 0 310
O89s <=2 310
Qg2 160,000& * 13 160
O22 M= 150,000& = 13 150
206 T 2 H 4,470 4,770 A300
01 X2 Hl 4,470 4,770 A 300
oU=E3adAS 1,500& * 1,000H 1,500
OXNZ A A= 100,000& * 1074 1,000
OCIXEXZA II8EQ 2=
20,0008 « 3= « 128 720
o= 33,0002 * 20004 600
OXzZ4a g2 ZEIHEY 220,000& = 204 440
oolgxeg ZeEEeSA 21,0008 = 108FA 210
301 et A= 8,320 8,320 0
11 J|EtE A2 8,320 8,320 0
OEMAE2l XNIASAKX 24|
20,000 * 4% % 104< 8,320
405 XHoaHFE S HI 6,450 4,150 2,300
01 AL 2B F S| 6,450 4,150 2,300
Oz 4 7L 6,450
Ob/&t SHAI A D} 350,000 = 8JH 2,800
O 2AIM It 500,000 = 404 2,000
OBt A NI} 550,000& = 3 1,650
CAS N2 E= 147,260 156,560 A 9,300
201 Yet2 | 14,760 23,560 8,800
02 =224 H| 14,760 23,560 A 8,800
OFIN2UHE =2 14,760
[OESN| 15,000& = 1500 AF = 12&8 2,700
O Xl gt Xl 13,000 = 1000 AL = 12&€ 1,560
OF 2t 5,000 * 15JHAF x 52 3,900
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206 TH 2 Hl 7,500 8,000 A 500
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OcteEsX 2 98 500& * 10,0004 5,000
405 TtHakH S| 125,000 125,000 0
02 = A7l 125,000 125,000 0
O&AM 12,500& = 10,0003 125,000
4= sl 12,722 17,397 A4,675
201 £B-2d| 1,794 2,580 A 786
02 =24l 1,794 2,580 A 786
oY - 2=J| sX&2l 30,0008 * 30H = 128 1,080
O&¥stxE EA 14,0004 » 51 714
206 M= Hl 7,928 11,817 A 3,889
01 =8l 7,928 11,817 A 3,889
Ot L HAES 4,423
SR 7,000& * 6 * 12& 504
Ost&EX 3,470& * 108 * 602 » 128 2,499
MYl E 1,860& = 6004 » 123 1,340
OMl==Hl 5 800 = 100K 80
oYy . - 2x2)| =5Z 16,5003 » 50 A 825
o4& JNsEHI B3 1,080
OblIg () 100,000& » 6<+A 600
OHlg (&) 80,000& 62t A 480
OXMEBE (5122 55) 50,0008 * 65 * 43] 1,200
OAM2E IIeA =2l 20,0003 * 204 400
307 21201 A 3,000 3,000 0
05 RIZt2IEt = 3,000 3,000 0
O3l 250,000& ~ 12& 3,000
ZTIZCHT HBAZ ¥y 38.640 0 38,640
= 19,320
< 9,660
Al 9,660
101 14 dl 38,640 0 38,640
= 19,320
< 9,660
Al 9,660
04 JIZHHZ2XREE S 38,640 0 38,640
OJIZtH 22X 2= 38,640,000& 38,640
= 19,320
< 9,660
Al 9,660
HAZT N2 H 276,076 195,486 80,590
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Al 207,001
SN2 ESgEZ2)H2A 29,180 28,010 1,170
201 et A | 27,780 26,810 970
01 AFR2t2l bl 2,700 2,700 0
OsSMNM=2E HE 1,200& = 1,000% 1,200
OZ M2 OtL 2lE3 1,500& = 1,000% 1,500
03 SHALS L I 25,080 24,110 970
OEANZ 23tEZZ2 N 29 23,180
O A& 80,000& = 12JHBF » 223] 21,120
O+ M 70,000& = 8IH 560
Oolg=2xZdA (&) 300,000& = 5& 1,500
O A2 F2tH A 800
Os=239 =& 500,000& * 13 500
O2 A=Y 300,000& * 13 300
OSsAMoAY A 1,100
Oos=239 =& 500,000& * 13 500
OZ A=Y 300,000& * 13 300
O AN X & 100,000& = 3JH 300
301 dEtEAZ 1,400 1,200 200
09 HALAHIBA = 1,400 1,200 200
OS2ZT=2 1Y XNIFSALA 24|
7,000& * 10 = 10 * 23] 1,400
AAsgesaesd 10,320 49,509 AN 39,189
201 Yet2 | 530 220 310
01 AP 22l Yl 530 220 310
oXzalg ZelH EY 220,000& * 1H 220
Ogll3 2g=2 310
Ost== M2 160,000& * 13 160
OS2 150,000& * 13 150
206 TH 2 HI 3,630 6,330 A2,700
01 M= bl 3,630 6,330 A2,700
O X2 A AFQI Al A&l 100,000& = 504 500
OEANEs+E HOolZ 150,000& * 52 750
Ot EAe 25 (CLIXNE UHea)
30,000& * 3& » 12& 1,080
OXNsSUHEEIE) 945 X
3,000& = 1002 300
OtET 2 (EvoLis)dllE LA
1,000,000& = 1CH 1,000
301 dEtE A= 4,160 0 4,160




2N
X ZH -
L= B

el

0 Of OF
[0 0 0z

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
11 IIEtE A2 4,160 0 4,160
O ME2l XH3ASALAH &I
20,000 * 2% x 1042 4,160
405 XH&HF SHI 2,000 9,500 AT7,500
01 AL =S EF SHI 2,000 9,500 A7,500
O0lsalAel 200,000& = 1CH 200
OHICIEZAMH (ZE) 1,800,000& 1,800
ENZ NESES 125,400 98, 100 27,300
201 Yet2 | 17,400 18,300 £900
02 35244l 17,400 18,300 A 900
oO&FJIIVHZE S 17,400
O 15,0003 * 15J0HAF = 128 2,700
ORI K] 13,000& * 10JHAF x 12& 1,560
O& 2t 11,0003 = 700HAF = 128 9,240
OF2HX] 5,000& * 15JHAF * B2 3,900
206 M= Hl 8,000 4,800 3,200
01 &2 bl 8,000 4,800 3,200
OENMAE2IE HIS 8,000
ORFID TAG 500& * 8,000H 4,000
Octd S X2 95 500& * 8,000H 4,000
405 XtabF SHI 100,000 75,000 25,000
02 & A7 100,000 75,000 25,000
OEANTL 12,500& * 8,000 100,000
ANEEF A &2 19,076 19,867 AT91
201 LEt2 Y| 3,626 3,220 406
01 At 22l Yl 1,280 1,280 0
OIZEH EH(MPAAIZ) 220,0008 » 3CH 660
OSAIEH(ARALRE) 220,000& * 1CH 220
OA=E J|18A DA 20,000& * 204 400
02 3524t 2,346 1,940 406
oYY - 247 A2l 34,0008 x 404 x 12& 1,632
OdSIE HEA 14,000& * 51& 714
206 M = Hl 9,147 9,147 0
01 & bl 9,147 9,147 0
Ost&a ¥ HAES 6,642
OgaH 7,000& * 8 A x 12& 672
OSt& X 33,4703 * 158 x 8 x 12& 4,997
oMYIIsE 1,860& = 4000 ~ 12& 893
ON ==t 800& * 100JH 80
OR& NsEEI 2BF 1,080




2N
X ZH -
L= B

el

0 Of OF

DY FFANYEAB
ZTNB 2Y
ATHE2Y

= _ — d =
SA - B (SA) - MRAY - BYS e 2
Odlg () 100,000& * 62fA 600
Ol (4) 80,000& * 622 480
od-2xJ 5% 16,500& * 508f A 825
OFMADE(GIESQ 38)
50,000 * 404 * 35 600
307 gIztol & 3,000 0
05 RIZt2IEt = 3,000 0
(OF SRelE= | 250,000& » 12 3,000
405 TtobH S| 3,303 A1,197
01 et ESFH S 3,303 A 1,197
OsAHa EI7¢ 2,103
OZEE X 181,500& * 3H 545
(@1=PNI=IPY; 62,000& = 9K 558
ON2EEU 500,000& = 2K 1,000
OFAUA(25)ItE 600,000& * 2JH 1,200
SSEAM2 A HE2Y 92,100 92,100
2 46,050
& 23,025
Al 23,025
101 1Al 92,100 92,100
2 46,050
& 23,025
Al 23,025
04 JI2ZtHNZ22 s+ 92,100 92,100
OJIZtH 22X E= 92,100,000 92,100
2 46,080
< 23,025
Al 23,025
SEoM2 29 122,418 45,178
2 19,320
= 9,660
Al 93,438
S 2EZ SRS 17,320 17,320
201 L2yl 16,760 16,760
01 AFR 22l 2,700 2,700
O=ENE2ZE HA 1,200& = 1,000% 1,200
O M2 LY 2l38 1,500& = 1,000% 1,500
03 &Ar2 I 14,060 14,060
oM 22 29 12,520
OZ M= 80,000& = 5JHBt * 283 11,200
O8 =5 70,000 = 4J08F = 304 840
OZ20Y AL
30,0003 = 4Bt * 45 480




SN BMDSE BFEANYSAD
M BDCHDY 29
el SFTHB 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O M& =2t AL 720
OZ A=Y 300,000& * 13 300
@)= 70,000& * 6K 420
O=sAe 2 @At 820
OZ M= 300,000& * 13| 300
Og 5 70,000& * 6K 420
OA i X & 100,000& * 1H 100
301 dEtE A= 560 0 560
09 HAIAH EA =S 560 0 560
O=2gZ=z 18 XAJASALA 24|
7,000& * 10Y = 42 * 23] 560
AAeges 29 20,835 0 20,835
201 et A | 3,205 0 3,205
01 AFR22t2l Yl 3,205 0 3,205
O0l8X Zelg EX 21,000 * 258FA 525
O=2AMI EH(MNZAR) 220,000& = 34 660
OoZglH EH(AMHEAE) 220,000& * 8H 1,760
O3 2g=2 260
Ost== M 150,000& * 13 150
O A& 110,000& * 13 110
206 T2 HI 9,310 0 9,310
01 X2 bl 9,310 0 9,310
Ol EEEES 4,980
OU&EItE 1,500& = 3,0007H 4,500
Odle3acely 8,000& * 108 80
Ootezmely el 80,000& =* 5 400
OENEs+E HolZ 150,000& * 28 300
Odl=Ale 285 (CIXEXZA)
30,000& * 3&Z x 12& 1,080
ONZH=E 20,000& * 60H 1,200
oOXNsUHsEeEI A Xl 3,000& * 502 150
OIlEZely dl=En 1,000,000& = 1CH 1,000
OAIE SHE 3,000& = 2004 600
301 dBtE A= 8,320 8,320
1M IIEtE &2 8,320 8,320
O AME2 NIASAL 2SS4
0,000& * 49 * 104 8,320
TAS NEES 37,345 0 37,345
201 LEr2 Y| 5,980 0 5,980
02 33249l 5,980 0 5,980
oOFJIvA:HE PS 5,980




SN BMDSE BFEANYSAD
M BDCHDY 29
el SFTHB 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OSSR 15,000& = 5JHAF = 128 900
O XX 13,000& * S5JHAF x 128 780
Og 2t 10,0008 = 25JHAF = 12€ 3,000
OZF2tX] 5,000& * 500 Al = B2== 1,300
206 M = Hl 6,365 0 6,365
01 & bl 6,365 0 6,365
OCAMAZE HIS 3,000
ORFID TAG 500& * 3,000H 1,500
Octd S X2 95 500& * 3,000H 1,500
oOsg TAXNZ &2l HIS 3,365
OS=d5 ALY Z&)
55,000& * 5504 3,025
OsEdHs iy 2= 20,000& = 178 340
405 XHoHFE S HI 25,000 0 25,000
02 T A7 25,000 0 25,000
oM7L 12,500& * 2,000 25,000
ANEE X 22 8,278 0 8,278
201 Bt A H| 2,460 0 2,460
01 At 22l ] 1,740 0 1,740
OXZelH EH(YRE) 220,000& = 54 1,100
O2A)] EH(YERE) 220,000 = 24 440
OAl=E 218A WH 20,000& * 10H 200
02 352494l 720 0 720
oY%l KA 30,000& = 204 = 12&€ 720
206 M = Hl 2,818 0 2,818
01 X2 bl 2,818 0 2,818
oMYIIsSE 1,860& = 4001 ~ 12& 893
odexsl &Y 16,500& * 508+ A 825
OFANZ2IESE(HAEE 2 95)
50,000& = 105 * 13 500
OHMARE (BB 35F)
50,000& * 3&F * 44 600
307 QI2t0| & 3,000 0 3,000
05 QIZt &2 3,000 0 3,000
O R0l AH| 250,000& = 12& 3,000
SSTAZ JH2AIZE HEESH 38,640 0 38,640
= 19,320
& 9,660
Al 9,660
101 @121l 38,640 0 38,640
= 19,320
& 9,660




SN BMDSE BFEANYSAD
M BDCHDY 29
el SFTHB 29 (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 9,660
M4 D122 E2EXNEES 38,640 0 38,640
QJIZH 22X 38,640,000 38,640
= 19,320
< 9,660
Al 9,660
23X AEO2Y 115,380 99,940 15,440
Ol=3XAR0 29 115,380 99,940 15,440
201 Let24dy] 109,280 94,240 15,040
01 At 22/l 15,640 13,450 2,190
Cl=dXARLL sE= 12,640
O Tt 4,000& = 1,000% 4,000
OelgxUeEl) 1,500& = 1,000% 1,500
OsE=2 ¢&8 =5 500& = 1,0000H 500
OoHY =&l 110,000& * 243 2,640
OXSAME 29 L HE  2,000,000& * 24 4,000
OMNRE 223 10,000& = 10& * 304 3,000
02 3323l 3,400 3,000 400
O=MY=ZI HAA HIANEZ
200,000& = 53 1,000
OXzd HYS 1,000& » 1008 * 243 2,400
03 A2 Z Hl 90,240 77,790 12,450
O=2Hus Z27d4 29 6,800
O=HMus T2 x| 6,800
W2 HEAID|E 5,000,000& = 13l 5,000
-9l 800,000& = 14 800
-H Al ] 1,000,000& * 13l 1,000
OY=ZI Z=HAS 13,600
OHANEE 1,900
-2lE% M (3HFO0I) 1,500&8 * 1,000% 1,500
-85 80,000 = 5JH 400
OF == 11,700
-AAEE MH 4,000 * 500% 2,000
~LAMZOI2+F 1A
300,000 = 2494 7,200
-AAEd SEE 9 2,500,000& * 12/ 2,500
OASC2 JIEHEAl 12,000
ASBHEA L M| 1,000,000& * 23] 2,000
O&s 2tz 2,000,000 * 23] 4,000
O=2= M 3,000,000& * 23] 6,000
ORHEOE F=(ANUHFAHZZIH) 4,740
OCHAIZEEZ HH 4,740




YDA FEANYSAB
TTCHB 29
OlsaaAsCezd )
SN BA(SA) - MRAY - BES il HImEET
-2/ B3 (3tF0l) 1,000& » 5008 500
-89 80,000& * 3K 240
-Z208 29 423 2,000,000 2,000
“UME 200,000& = 109 2,000
OY=HIL oA 24,000
O&FANZEECZY MEH 650,000& = 243l 15,600
O8=% 2 NMEX HH 150,000& * 244 3,600
OdANSHE 200,000& =« 243l 4,800
ORLEAFLQA(L=FI SEEHASF) 29,100
O&EE HA 15,000& = 1,000% 15,000
OFSUNRuE- 2,000,000& * 13l 2,000
OXEME 2F L HE  400,000& * 243 9,600
Os2d| 2,500
-EUE 1,000& » 5000H 500
-9 1,000,000& * 1JH 1,000
-0ls=&X 2108 1,000, 000& 1,000
206 M= Hl 3,200 4,500 A 1,300
01 =8l 3,200 4,500 A 1,300
OFAY 8HH SHFHHI(HAESR 105)
1,200, 000& 1,200
JISHE U MZE(35) 1,000,0003 * 2H 2,000
301 L2 Az 1,400 1,200 200
09 SAEHIEA S 1,400 1,200 200
HAX S X SALA =&l
7,000& = 10¥ = 203l 1,400
405 XH&bF S HI 1,500 0 1,500
01 XA =S H SHI 1,500 0 1,500
AFAIE MEI 2 1,500,000& = 1CH 1,500
BHSALU (BYDEH HFANYTAD) 697,807 929,788 ~231,981
Jl=&l 627,987 929,788 A 301,801
Jl=&l 627,987 133,475 494,512
201 Let249] 593,547 90,035 503,512
01 At 22l 36,020 42,602 A6,582
OJlegesdasZ 13,220,000 13,220
OBRYRZE 2= 120,000& » 7% « 23] 1,680
=gl JI&ZHl 15,120,000 15,120
O M2 OHLH 2 Xt 2,000& = 2,000 4,000
OEAM2 et Ze 2,000& = 1,000 2,000
02 =224l 557,527 47,433 510,094
oORUR= 3,255




B (BH) - NRAY - By Ol &+ o4 SSa HlmE2
Ogegt 270& = 1,500 405
Ol 1,900& = 1,500 2,850

OXNsIEE 900,000& = 1CH 900
O Xt XHAl 150,000& = 104 = 23l 300
OH - 3t=C L3 (ANEBZAH22 30MLA)
1,600& = 700m = 12& 13,440
OUNERLILS(ANEBZ M2 30MA)
350& * 14,000m 4,900
oOsIMERES 1,900
OHE2 (MM 3Ma)
200,000& = 4014 = 23] 1,600
(OPNE=PNE-= 150,000& * 23| 300
oOxtg HIBAME 55,0002 * 1CH 55
oxg RFMH 2,000,000& » 10K 2,000
OXEH ¥ XNEFA2FH
2,500,000& » 104 2,500
OFX=AI RX 22l
3,700,000& = 6CH * 6% 1,332
od.2=J sXeltl
30,000& = 400 » 12& 1,440
OREUSE(ANBES M2 30Ma)
32,4503 * 700 » 12& 2,726
oNER3 226,628
OJlgga 6,980 * 40 ~ 180kw * 12 60,308
OMEBERS
1003 » 402 » 34,650kw » 12& 166,320
oxNgHeR= 62,159
oJleesa 3623 * 635mcal * 128 2,759
OUNE=3= =] 90,000& = 55Gcal * 12& 59,400
OPJES=F=, 1,160& = 2,500Gcal * 128 34,800
ogBtdst Y SMSe =3
200,000 * 9 * 12& 21,600
OQHUYAMHEIA THAAZESE 52,0008 + 24 104
OZMWOIXl AHes 0182
1,000,000& * 13l 1,000
OSNMBEAMNBIA(IP) ABE
3,500,000& * 40 » 128 168,000
OTNBEANEIA MESH ANEE
334,000& = 12& 4,008
OFEUWENEZS M2 2HYS L AR
30,000& = 13/ & * 128 360
OU+XSTHT IEHWSIME ANEER
60,000& * 134 * 12& 720
OMALLD HIMEEZ 3,000, 000& 3,000
OIAAD MABEHE
200,000& = 13| » 2004 400




FA B0
3 gye
2

o
gelr Jl=

A - ER(EN) - AR - B of & o4 SSa HIDZ2
202 O 4l 30,240 38,880 A 8,640
01 ZLHOHI 30,240 38,880 A 8,640
QJll=gef=d J=0Hl 30,240,000 30,240
203 R =&Y 4,200 4,560 A 360
04 FEN2SE 2T 4,200 4,560 A 360
OJ|EH(30210135t) 350,000& * 12E 4,200
el 2 69,820 0 69,820
el 69,820 0 69,820
101 124 H] 69,820 0 69,820
03 RIHAZZ2NE = 69,820 0 69,820
OZ N2 AtA 69,820
oJza 44,8008 = 29 = 365 32,704
odoa3 49,056,000& * 4/12 16,352
Ozh=*2=+¢ 4,712
“AIZEeI2R+E  8,400& » 28 * 150Al 2t 2,520
-AXRESF/I=E 55,800 * 2% 10 1,116
-R2€2f=+H 44,8003 = 2% * 12& 1,076
OFHZ Al 120,000& * 2% « 123 2,880
OusE x| 100,000& * 2& » 123 2,400
OgE =t
49,056,000& * 1/12 » 60% * 23] 4,906
OItA X2l
49,056,000 = 1/12 = 30% » 43 4,906
OJtAHEd =Y 960
-tE= 960
- B X 40,000% = 1% » 128 480
JIEIHE 20,000% = 2% « 128 480




N = 0 &8 AFH Y & A AN
2N BYDS BFEAYLSTAHD
M ZDCHDY 29
ol ANEREEHT 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HMUNSA HFANYLEEM2 2,680,012 2,176,413 503,599
= 66,870
& 98,035
Al 2,515,107
SSTAS 29 2,358,697 2,137,941 220,756
= 66,870
T 98,035
Al 2,193,792
ANELLSEANE 229 1,744,563 1,293,275 451,288
=2 19,320
< 74,260
Al 1,650,983
CEAEXNEZES 142,384 150,215 NT,831
201 LEt2 Y| 9,384 46,655 N37,271
01 At 22l Yl 9,384 43,165 N 33,781
OFJIIUHERS 9,384
OsLX 15,000& * 105 » 12& 1,800
ORI X 13,000& * 4F » 12& 624
O 2tX 11,000& = 308 » 12& 3,960
O& XA 2 250,000& = 12& 3,000
206 T2 HI 8,000 0 8,000
01 & bl 8,000 0 8,000
OEANE2ES 8,000
ORFID Tag 500& * 8,000H 4,000
Octe Sk 2 95 500& * 8,000H 4,000
405 XHo&HF S I 125,000 92,160 32,840
02 &M+t 125,000 90,000 35,000
O M-I 12,500& * 10,000 125,000
CAS2IEZZ )2 15,520 7,700 7,820
201 LEr2 Y| 15,520 5,000 10,520
01 AR 22| bl 4,500 0 4,500
OCNZ EE2= 1,500& = 3,000 4,500
03 SHALZ L b 11,020 5,000 6,020
OSAHMRstEz)dH2A 10,420
OLAEE 80,000& = 10JHEF * 123 9,600
OsE=2(842 )M = 80,000& * 44 320
O=x=d &34 500,000& * 13 500
O & A 2 =2t A 300
OZ A=Y 300,000& * 13 300
Os Ao 2 At 300
OZ A=< 300,000& * 13| 300




2N
X ZH -
L= B

el

HYDSA BEANYLETHE
2T 2Y
NERETAHZ 2

A - ER(EN) - AR - B of & o4 SSa HIDZ2
Asggadz2d 48,438 217,487 A 169,049
101 @124 H] 29,048 217,487 188,439
V4OIRAHBRISES 29,048 217,487 188,439
oxE¥a Y =L NEA 2gol
44,6403 = 2% » 26¢ x 11E 25,535
OYZEF Iyl 200,000 » 2F = 23 800
OC4UiABIEE 253 2,713
O=UASEE= 25,535,000% * 4.5% 1,150
OAZEEERE=s  25,535,000& * 2.995% 765
OFINRALEERHS  765,0008 * 6.55% 51
OLNEEEERE= 25,535,000& * 1.5% 384
OUHESRE=S 25,535,000& * 1.42% 363
201 fEt2E | 7,490 0 7,490
01 At2 22l bl 6,700 0 6,700
O M2 AaX 2,000 = 2,500% * 1% 5,000
OXNEa A2 100,000& * 12& 1,200
Od= T AU FIHH| 100,000& = 5% 500
02 524t 790 0 790
O8I RE= 790
Ost=2= A& 340,000& * 13 340
O3 A 300,000& * 13 300
Os=Z23= M2 150,000& * 13l 150
202 o4 4l 910 0 910
01 ZLHO I 910 0 910
Od= =AU FIH Yl
75,8008 * 4% » 3¢ 910
206 T2 H 6.830 0 6,830
01 M= dl 6,830 0 6,830
OUHEHS 3.170
ousExHE 1,500& = 1,50004 2,250
Oostemgd el 80,000& » 102 800
OJtexegll 2l 8,000 = 152 120
og+=sEX 3,000 = 1502 450
OENESE HOZE 150,000& = 202 3,000
O=MEX(X24) 21,000& » 108+ A 210
301 fELE A= 4,160 0 4,160
MIIEtEd = 4,160 0 4,160
OXESAR 34|
20,0008 = 2& = 104 4,160
TTCHB HBAIZ 2Y(2D) 38,640 75,600 36,960
= 19,320




2N
X ZH -
L= B

el

HYDSA
IBSHE 2
NERETHZ 29

ENUREEHB
o
o

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 9,660
Al 9,660
101 @144 dl 38,640 74,240 A 35,600
= 19,320
= 9,660
Al 9,660
4 D12t ZE2EXNEES 38,640 74,240 A 35,600
QJIIZHIZZ2XNE = 38,640,000 38,640
= 19,320
< 9,660
Al 9,660
AMES |X &2 312,903 153,569 159,334
201 Letd] 28,200 153,569 A 125,369
01 At 22/l 400 11,735 A 11,335
OAMEE JI=A =2l 20,000& * 2074 400
02 =224l 27,800 141,834 A 114,034
OCCTV S Xl 22l (5H4) 2,000,000& = 128 24,000
028 L YA RN 2L
500,000 » 40H 2 2,000
od=J |XZeldl 50,0008 * 3CH = 12& 1,800
206 M= Hl 10,225 0 10,225
01 =8l 10,225 0 10,225
O Al - 2tel Xt T4 4,200
(@OFSPIR=2- 1,500
-HEEe0ls 3 2208
30,000& = 504 1,500
OJIH &l 2283 1,500
~dUg)| 2THA 9 205
30,000& * 5004 1,500
(OE-= AP 1,200
-A35td HHIRF 60,0003 * 204 = 5IH A 600
-RESF 60,000& * 201 » 5044 600
CHLMES 50,000& = 38 * 43| 600
OEMZEES 50,000& = 5& « 43| 1,000
Oz & HAES
30,000& = 64 * 128 2,160
oI =5& 16,500& * 508f A 825
ORMNUSEEHI 222 1,440
Ol (th) 100,000& * 82fA 800
Ol () 80,0003 » 8<tA 640
307 glz2+ol & 213,600 0 213,600
05 RIZt2IE = 213,600 0 213,600
ORI AHIAlAE 300,000& = 123 3,600




2N BYDSE BFAYEEND
M BN 2Y
Sl ANERBEHY 29 EERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
CECERFESEE
3,500,008 * 5)j4 « 128 210,000
401 AIEHIL S THHI 60,878 0 60,878
01 Al Hl 60,878 0 60,878
OINHANER 24 2,000
O2W= L 2TAIE 400,008 * 54 2,000
OIANLE RN B4 10,500
OF% % MSAE 1,500,008 * 5H4 7,500
O+FEH RNS 600,000% * 5K A 3,000
OLYANLE RN 8,000
OXE SWEX &bl 1,600,008 * 5H 2 8,000
oL RAB4 8,000
OANAE Wil 1,600,0008 * 542 8,000
OSHTAHZ DB (ZEDH)
80,0002 + 19CH 1,520
OSHTAE 25 L 2LBA
6.000,0008 * 1§ 6,000
ONMREEA X2 H4+BA 33,0008 » 176m 5,808
ORSTHE I HIASHEX &XSA
1,500,008 * 242 3,000
CEENEMEES 13,300
OREEAH 1,210% * 2,753m 3,332
ONRT A2 1,2108 * 2,692 3,258
Ose T 2t 1,210& » 2,618m 3,168
ougECM 1,2108 = 9g0m 1,198
OSUEH 351420 * 667 2,344
ORI WHERl R 2,750
O150A BHES 2l 20,0002 * 5JH 1,100
O100A BHEf 2l 130,0002 * 534 650
O60A HHE! 2l 10,0002 * 54 500
O10A BHEI 2l 50,0008 * 54 250
O7A BHEI2I 50,0008 * 54 250
NEELI-EE 66,082 0 66,082
201 et | 62,082 0 62,082
01 AFR 22| H] 61,882 0 61,882
CELIE R 60,942
OB2I| BN A 126,000 * 7CH 832
OL2I| oEBAUY 242
213,002 * 7CH * 122 7,892
Ogsizel e +48
315,0008 * 4044 * 122 15,120
OFJIHEBE He4+42 18,588
~2% & M 2t (465Kn) 309,008 * 12% 3.708




A BMINSY HFANPLECAH
Hi: ZZC MDY 2H
Cel: ANEsSTN2 29 (&9 &)
_ _ _ SHE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-2 S A2 (500Kw) 412,0002 * 12¢ 4,944
-E9 & A2 (600Kw) 520,0002 * 12€ 6,240
—Al 82T M 2H(250Kkw) 180,000 » 12 2,160
-2 ALT A 2H(25Kw) 128,0002 * 129 1,536
OMREMNZ E2TAE Hax22
180,0008 * 1004 * 129 2,160
OFANLSEAS 210,0002 * 500A * 63 6,300
CEI=mES: 940
OFI| ot 22| Xt 00,0009 * 19 100
O22II ¢stzel Xt 180,000 * 4% 720
O&2I| erE B2 R} 30,0008 * 49 120
02 2229 200 0 200
OAorEE 3 50,0002 * 4Y 200
401 Al HI 2 200 4,000 0 4,000
01 Al&HI 4,000 0 4,000
OZXZ %L 2| 1,000,0002 * 494 A 4,000
MIUT M2 olZet A5t 343,017 78,454 264,563
201 L2 296,867 78,454 218,413
01 AFR 22| H 12,575 0 12,575
OBOHE Al ATEY N A 7,500
orc2 35,0002 * 100M 3,500
ONHE 400,0002 * 10H 4,000
orcE 2ZEYN P 100,000 * 5074 5,000
OSMTAHZ SHOAMEE 75,0002 * 174 75
02 2229 H 284,292 78,454 205,838
OXAMAIAH SI22| (1HA)
370,0002 * 1204 € 4,440
ORFID XS 3HEH X 22l (40 A)
4,300,000 * 1294 € 51,600
OSHZ UEKI/BrZHl K22l (500A)
3,200,0002 * 1204 € 38,400
OFSIWEAAL ST 22/ (5HA)
590,000 * 1294 € 7,080
OFESAA HMEAIE S22 14,100
OAMAHMAHZ &H S22
1,500,000 * 23 3,000
o8&l S (5IHA)
442 0002 * 12042 5,304
OFHEMAZI (UPS) (5IH A )
483,0002 * 1242 5,796
OANAESEB R ZEAIAE (FMS) 2 Xl 22l (50K
A) 930,0002 * 1200 11,160
OPC ¥ HAEH KRXI22l(5HA)
1,306,0002 * 120 15,672




SN BYDSY BFAYLECHB
IM: BTSN 2Y
St NEQSENT 29 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OUHY MZE3|H HIS(5MHA)
11,100,000& * 1204 & 133,200
OENMEEAMUIA ME3IE HIE(5MHA)
420,000& = 120H& 5,040
OLErAS HIE(5ML) 150,000& » 1204 & 1,800
O=AEE L= SA2el 150,0008 * 128 1,800
206 M= Hl 4,150 0 4,150
01 M Hl 4,150 0 4,150
OAld2el XM 3,050
OYgESsSAUTM 1,200
-#2E ¥ SAH02 6,000& * 200M 1,200
O &H(PC)XHH 1,350
-t A E¢etol 90,000& = 154 1,350
OMMAZE(G1ER 5F)
50,000& = 5& * 23l 500
OsEXNEs PC 2F X 1,100
OdllEA 25,000& = 2004 500
O2I18E 15,000& *» 2004 300
oot 15,000& = 2074 300
405 XHoHF S HI 42,000 0 42,000
01 XA 2 ZFH S| 42,000 0 42,000
0z FH & 1,400,000& * 30CH 42,000
OISt B Gte ALY 28 269,000 204,000 65,000
< 53,800
Al 215,200
201 L2l 52,500 34,940 17,560
< 10,500
Al 42,000
03 A2 Z Hl 52,500 25,940 26,560
O#MAIZEE 16,000
OXAH ¥ 228 AH
1,100& = 10,0004 11,000
< 2,200
Al 8,800
OEdate 80,000& = 504 4,000
< 800
Al 3,200
O=AEBE 24 1,000,000& * 13l 1,000
< 200
Al 800
OusZz ) dH 2Y 31,200
ORBUSE ZAE 500,000& = 103l 5,000
< 1,000
Al 4,000




FABY

il

TH - el
3 23k
Q

Sl NYRSEHEY 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZz 2 dA=E
80,000& = 2001 EF » 123] 19,200
< 3,840
Al 15,360
O=AHE s35¢ 500,000& = 63l 3,000
= 600
Al 2,400
CusM= 50,000 = 200HEF * 43 4,000
< 800
Al 3,200
O=2AEE &3 N28 10,000& * 5305 5,300
< 1,060
Al 4,240
206 = Hl 200,000 160,000 40,000
< 40,000
Al 160,000
01 =8l 200,000 160,000 40,000
o#MRHOl M 7 200,000
O=AHBE Hd40Ol 20,000& = 4,0000H 80,000
< 16,000
Al 64,000
O=AHE A 40l
20,000& = 2,0000H 40,000
< 8,000
Al 32,000
OZAEE H24X 10|
20,000 = 4,0000H 80,000
< 16,000
Al 64,000
301 L2 Az 16,500 9,060 7,440
< 3,300
Al 13,200
09 EAAHIE &S 16,500 9,060 7,440
O3 &SIt =&l 7,000& = 30 = 103l 2,100
< 420
Al 1,680
oONAESIH 848 ¢ W= 14,400
LA 500,000& = 103l 5,000
= 1,000
Al 4,000
Ogsad X& 10,000& 352 * 243 8,400
< 1,680
Al 6,720
OXJEsIt s 500,000& =« 23l 1,000
< 200
Al 800
TN XR(SH) 36,000 15,000 21,000
< 10,800




SN BYDSY BFAUQLEEAD
IM: BTSN 2Y
Sl NYRSEHEY 29 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 25,200
405 TtabF S| 36,000 0 36,000
< 10,800
Al 25,200
01 et EFSFHSHI 36,000 0 36,000
OX2E N2 =AY 36,000,000 36,000
= 10,800
Al 25,200
N2EA2 54 150,981 26,250 124,731
101 @124l 14,781 0 14,781
M4 II2HZ22NSES 14,781 0 14,781
O=3IAN 82F gl AHd|
50,000& = 1 * 262 = 103 13,000
O=3 AN ZEFOHYI 200,000& = 29 400
O4UiMIEE S 1,381
OI0HASRES 13,000,000& * 4.5% 585
OCAHLZEERE 3 13,000,000& * 2.995% 390
OWINAEEERLES  390,000& * 6.55% 26
CnEZEzRE3 13,000,000& * 1.5% 195
OttEdzRg 3 13,000,000& * 1.42% 185
201 Let24d] 1,200 0 1,200
03 #AL2 I 1,200 0 1,200
ORYRSCAHB HF AALY
100,000& » 39H 300
OXSZT N2 22X KIS 900
O2AME 300,000& = 29 600
OAdlegxH 20z 100,000& » 29H 200
OM =4l 100,000& * 13l 100
307 21201 A 23,000 11,250 11,750
02 YAFAAFEE 23,000 2,250 20,750
OXRSTHT 224 X 23,000
02 2T M N (AS2)
7,000,000& » 10HA 7,000
ORY 2T M N (BS2)
5,000,000& * 204 A& 10,000
O2Y X2t Mz X2 (Cs3)
3,000,000& * 204 A 6,000
402 2I2H X201 M 112,000 15,000 97,000
01 It AL E X 112,000 15,000 97,000
O M7l 112,000
OX2EAHAS THAFLH XA
4,000,000 * 28012 112,000
JIES M2 AIEHA 2,848 30,000 N2T7,152




SN BYDSY BFAUQLEEAD
IM: BTSN 2Y
Sl NYRSEHEY 29 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 2,848 30,000 N2T7,152
01 A& HI 2,848 30,000 AN27,152
OJINo TAHE ABRILS
2,939& = 969m 2,848
JIEgEN22HA 318,750 319,000 A 250
307 glz2tol & 300,000 300,000 0
05 RIZHRI & 3 300,000 300,000 0
OJIFES T M2 2%  300,000,000& * 1H2 300,000
405 TtHobF S| 18,750 19,000 A 250
02 = A=l 18,750 19,000 A 250
O M=l 12,500& = 1,500& 18,750
NEEA22Y 231,529 374,334 A 142,805
= 19,320
< 9,660
Al 202,549
SNEBRNEES 80,620 233,760 A 153,140
201 Let24d] 12,120 20,960 A 8,840
01 At 2teltl 12,120 0 12,120
oFIIANHE=E 7= 12,120
Os&X 15,000 * 15JH AL = 123 2,700
OX X 13,000& = 10JHAL » 123 1,560
OZ2tX 11,000& » 300 AL » 123 3,960
O=F2tX 5,000& * 15JH At * 52== 3,900
206 M= Hl 6,000 12,800 A 6,800
01 =8l 6,000 12,800 A 6,800
OZNECES 6,000
ORFID TAG 500& * 6,0000H 3,000
Ootg X2 95 500& = 6,000H 3,000
405 XHoHE S HI 62,500 200,000 A 137,500
02 =M=l 62,500 200,000 A 137,500
O&A 12,500& = 5,000 62,500
CAZ2RSEZOHRY 31,200 35,050 A 3,850
201 LBt 29,800 34,450 A 4,650
01 At 22l 3,000 4,800 A 1,800
O=AKNz =28 M= 15,000& * 2005 3,000
03 A2 Z HI 26,800 29,650 22,850
O=sSARZENH2H 26,200
O A= 80,000& = 10JHEH » 243] 19,200
OSgZMSZ(AZSAMOITHUDI)
500,000& = 53| 2,500




SN BYDSY BFEAELEEA
IM: BTSN 2
Sl NRCHBRY CERED
SN BA(SA) - MRAY - BES il HImEET
O(EstZ20g)dJ|IE=2x283A
500,000& * 53 2,500
oolgd=as 1,200,000& * 1M E 1,200
OZHIHtE M= 80,000& * 107H 800
O Mt =2+ &AL 300
OZ M= 300,000& =« 13l 300
O=sANo & A 300
OLM=H 300,000& = 13l 300
301 Y B A 1,400 600 800
09 SALAHIEA S 1,400 600 800
O=SNEsZZ20E NI SALA S &I
7,000& = 10¥ = 203l 1,400
SEHEAM2H 60,889 49,299 11,590
101 @124l 43,569 33,459 10,110
04 JIZHHNZ2XNSE+ 43,569 33,459 10,110
onzdeld =2 Iz od2d
44,6403 = 3" » 262 » 11E 38,302
O & F Il 200,000& = 3% = 23] 1,200
O4UiMaIEE S 4,067
O=0d=s Rz 38,302,000& * 4.5% 1,724
OCAHZE2EE2Y3 38,302,000& * 2.995% 1,148
O¥IILEEz BEHZ
1,148,000& = 6.55% 76
CLEEEE 23 38,302,000& * 1.5% 575
Ot A2 Z  38,302,0008 * 1.42% 544
201 Yot 2 Y| 460 0 460
02 2324l 460 0 460
Og2sRg= 460
Ost=2E M2 160,000& * 13 160
O2sEM2 300,000& = 13l 300
206 28 8,000 5,980 2,020
01 MZ 4l 8,000 5,980 2,020
oH=sEzas 2,300
OtEatE 1,500& = 1,00004 1,500
O3ItECX 80,000& » 108 800
0gd+=5 EX 3,000& = 1002 300
OWEZNESE HEY 150,000& * 202 3,000
OMIIE SHE 3,000& = 1004 300
OKIL Atel= 100,000& * 54 500
OIINEERE (NHEASE)
20,000& = 38 ~ 123 720
OZgH EH(NEAE 220,000& * 4CH 880




SN BYDSY BFAUQLEEAD
M ZDCHDY 29
Chelr MRCABRY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 L2 A= 4,160 4,160 0
11IIEBEAS 4,160 4,160 0
O AN Eeol NESAA AHIX&
20,000& = 2% = 104 4,160
405 XHoHE S HI 4,700 5,700 A1,000
01 AL EZFH S 4,700 5,700 A1,000
OEMH=ABE3AH At 2,000,000& * 204 4,000
O0IEXE AU 700,000& « 1CH 700
ZREAHRHNBAIRAF(2D) 38,640 37,800 840
= 19,320
< 9,660
Al 9,660
101 14 dl 38,640 36,002 2,638
= 19,320
< 9,660
Al 9,660
04 JIZHHZ22XREE S 38,640 36,002 2,638
OJIZHZ2Z2AE =+ 38,640,000 38,640
= 19,320
< 9,660
Al 9,660
ANEERX 2e 20,180 18,425 1,755
201 B2l 7,380 6,320 1,060
01 At 22l 1,620 1,500 120
OnmgH EU(HRE) 220,000& « 3CH 660
OSAMI EUH(HRE) 220,000& = 3CH 660
OAt2 & 1A =2lH| 10,000& * 30H 300
02 2324l 5,760 4,820 940
od - 240 sX&eldl
30,000 = 6CH = 12& 2,160
O3J183FJ SXZeltl
30,000& « 1004 » 128 3,600
206 TH 2 HI 9,800 9,105 695
01 MHZ 4l 9,800 9,105 695
OXMULRE(SEJASE)
50,000& * 5& « 23l 500
OFMZCEBE(ERS98)
50,000& * 8& « 23l 800
Oz & HAES 6,400
OgeH 8,000 * 100HA = 128 960
Ost&EX 3,470& = 108 ~ 1001 & ~ 128 4,164
orMrgIIsE 1,860& = 5004 » 123 1,116
Otls 800& * 2004 160




SN BYDSH BEAYLSTHB
HH: RIZCHT 2
Chelr MRCABRY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
od . - =2=J 854 16,500& * 402fA 660
o4& JNsEHI 223 1,440
OHblIg (th) 100,000 = 8&+A 800
Odlg (&) 80,000& » 8<FA 640
307 glz2tol & 3,000 3,000 0
05 RIZIRI & 3 3,000 3,000 0
ORI AHIAAE 250,000& = 12& 3,000
SAE2H 218,914 258,479 A 39,565
= 28,230
< 14,115
Al 176,569
SAENZES 80,960 100,760 A 19,800
201 L2l 13,460 20,960 AT,500
01 At 22l 13,460 0 13,460
OFIIUHZ A= 13,460
OsLX 15,0002 * 1500 AL = 12 2,700
OX X 13,000 * 10J0HAF x 123 1,560
OF2tX 5,000& * 100 At * 52= 2,600
OZ2tX 11,000& » 500 AL » 123 6,600
206 M= Hl 5,000 4,800 200
01 MHZ 4l 5,000 4,800 200
OEAMEe B3 5,000
ORFID TAG 500& = 5,0004 2,500
OcteEsEX 2 98 500& * 5,000H 2,500
405 XtatE SHI 62,500 75,000 212,500
02 =M=l 62,500 75,000 A 12,500
O&A 12,500& = 5,000& 62,500
ENAZEEZ2NHRA 21,500 27,350 A5,850
201 L-2E| 20,100 26,150 A6,050
01 At 22/l 1,800 4,800 A 3,000
O=MN 2% 1,200& = 1,500% 1,800
03 &Ar2 I 18,300 21,350 A 3,050
O=sM=2stEZz20d 23 17,700
OZ M= 80,000& = 10JHEF » 203l 16,000
Os33¢c=x=d EI13H 500,0008 * 23] 1,000
OEZH3tE 80,000& = 5K 400
OEZY 2IES 30,000& » 108 300
O A2 =2t AL 300
OZA=¢ 300,000& * 13 300
OSSN & A 300




2N

HMNS2 3 S A
M ZDCHY 29
SUCAHBSY A:Ee)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZ A=Y 300,000& * 13 300
301 dBEtE A= 1,400 1,200 200
09 HAIAHI EA = 1,400 1,200 200
OSZ=z 0¥ XIS ALA 2 &I
7,000& * 10¥ = 203 1,400
Ahegsaesd 44,668 60,959 N 16,291
101 @121l 29,048 33,459 N4 411
04 JI2ZtH 22 XNEE % 29,048 33,459 N4 411
oXzde ¥ =& Iz g o
4,640 H o« 262 x 1€ 25,535
O ZF&E FIth| 200,000 * 29 * 23] 800
O4Ul Al EE 2 2,713
O=0dza 232 25,535,000 * 4.5% 1,150
OAdBEEZ 22 25,535,000& * 2.995% 765
OIRLYBEE = 232 765,000& * 6.55% 51
OnggEss 242 25,535,000& * 1.5% 384
OMTHEE Z 22 25,535,000& * 1.42% 363
201 LEt2 Y| 900 440 460
01 AFR2t2l Yl 440 440 0
oZzH EH(M2AE) 220,000& = 2CH 440
02 3524l 460 0 460
@)=SlR=R =g 460
Ost= & 160,000& * 13 160
O3 A 300,000& * 13 300
206 M = Hl 6,100 13,400 AT7,300
01 X2t 6,100 13,400 A7,300
oz 3IAS 5,500
osate ,500& * 1,000H4 1,500
Ot =Zelf 22 80,000& * 50H 4,000
OXNsSUHERIED 945 21
3,000& = 1002 300
OXZ A AFQL AlAE 100,000& = 3JH 300
301 dEtEAZ 8,320 4,160 4,160
11 IIEtE &2 8,320 4,160 4,160
OEMEel XHJASALA AHIXI&
20,0003 * 4% x 104 8,320
405 XHoHF SHI 300 9,500 A 9,200
01 At = S F S b 300 9,500 A 9,200
OO0ts &l 4% 1AHCHAL A D} 300,000& * 14 300
ZZCHBHRARAF(2D) 56,460 55,200 1,260
= 28,230




2N BYDS BFEAYLSTAHD
M ZDCHY 29
SE R EEPEEE EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 14,115
Al 14,115
101 @144 dl 56,460 54,003 2,457
= 28,230
< 14,115
Al 14,115
4 D12t ZE2EXNEES 56,460 54,003 2,457
OJIZtHZ2 2 E = 56,460,000& 56,460
= 28,230
< 14,115
Al 14,115
ANESRA 22 15,326 14,210 1,116
201 Letd] 1,840 1,840 0
02 8323l 1,840 1,840 0
oY - 2=J| ®X&2l 30,0008 * 40H = 128 1,440
OAI2 & Il WX 20,000& = 204 400
206 M= Hl 10,486 9,370 1,116
01 MHZ 4l 10,486 9,370 1,116
OXL 2Z2ZF(0IRAQ 28)
50,000& = 401 = 338 600
Oz & HAES 7,981
Og et 7,000& * 8 * 12& 672
Ost&EX 3,4703 * 158 + 8L + 128 4,997
oM eIl S = (50L) 930& = 20004 = 123 2,232
OAMlI==Hl 5 800& * 1004 80
od .- 2x)| =5FZ 16,5003 » 502 A 825
o4 JNsEHI 2EF 1,080
Ol (th) 100,000& * 69fA 600
Odlg (&) 80,000& = 6EfA 480
307 21201 A 3,000 3,000 0
05 RIZt2IEt = 3,000 3,000 0
O3l 250,000& ~ 123 3,000
HESEM22Y 93,285 161,830 A 68,545
CHEUNBEHE 38,910 56,260 A17,350
201 Let24d] 4,660 4,660 0
01 At 22/ 4,660 0 4,660
OFJIZHHE F=HI 4,660
Os2X 15,000 * 3OHAF » 123 540
OXI&X 13,0002 * 5JH AL = 12 780
Ootsd =2 5,000& * 3JH AL = 128 180
OF2tX 5,000& * 2JH AL * 523 520
OZ2tX 11,000& * 200H AL = 123 2,640




2N

BMDSE FFANYSTHD
M ZDEHY 29
Sl NEBCAHBRY CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
206 M =8l 3,000 1,600 1,400
01 = dl 3,000 1,600 1,400
OEN H2&E 3,000
ORFID TAG 500& = 2,0000H 1,000
OoctegX el 98 500& = 4,000 2,000
405 TtatF S| 31,250 50,000 18,750
02 =N+l 31,250 50,000 218,750
O M7l 12,5008 = 2,500 31,250
CAZESEIZNHE2Y 16,740 18,970 A~2,230
201 £Eet23E | 15,900 18,250 A2,350
01 At 22l bl 1,200 2,700 A 1,500
OsSH=2E 1,200& = 1,000% 1,200
03 A= S HI 14,700 15,550 A 850
O=sAZstzz2]d 29 14,100
OZA=¢ 80,000& = 7IHEL * 202 11,200
OEad3tE 80,000& * 5K 400
O&Lzd 28 223
50,000% = 108 = 23 1,000
OdJl ots=9 =& =9 500,000& =+ 32 1,500
O=Ma =2t A 300
OZ A==€ 300,000& * 13 300
O=AN2 & A 300
OZAt=¢ 300,000& * 13 300
301 LprE A3 840 720 120
09 AEHIES S 840 720 120
O=RsZ2Y NAS AR S
7,000 = 108 * 123 840
HEIYM 29 29,536 22,701 6,835
101 21244l 14,526 16,731 N2,205
04 D12 H22 RS2+ 14,526 16,731 N2,205
oXzdcel ¥ =2 Ugd 2¢ o
4,640 ~ 18 » 262 * 11E 12,768
Og &= Jthl 200,000& = 23] 400
O4liAISIEE Z 1,358
O=tls BE= 12,768,000& * 4.5% 575
OUZEEE BE= 12,768,0008 * 2.995% 383
OFINeALEE 5= 383,0008 * 6.55% 26
ONEESE RE= 12,768,000& * 1.5% 192
OttNEE s RE= 12,768,000& * 1.42% 182
201 Ypte G| 530 220 310




2N BYDS BFEAYLSTAHD
M ZDEHY 29
Sl NEBCAHBRY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2t2l bl 220 220 0
OZBHEH(YRZ) 220,000& = 10K 220
02 352494l 310 0 310
@)= =IR=R =g 310
Ost=2 A& 160,000& * 13 160
O A 150,000& * 13 150
206 M=l 900 1,820 A 920
01 &2 bl 900 1,820 N 920
IR 900
OU=E3JAE IHERX 80,000& * 5 400
OX S A AFCTAIAES 100,000& * 50H 500
301 deEtE A= 2,080 2,080 0
11 JIEtE A2 2,080 2,080 0
O MNME2 XAHASALA 2SS4
0,000& * 1Y * 104 2,080
405 XH&HF S HI 11,500 1,850 9,650
01 AL 2B F SHI 11,500 1,850 9,650
OXrg &l At 11,500
o2 s Ha 230,000& * 1004 2,300
O 24 =4 1,150,000& = 8JH 9,200
ANEES K 22 8,099 9,899 A 1,800
201 LEt2 Y| 2,420 3,620 A 1,200
01 AFR2t2l bl 440 440 0
OZRH EH(MPAAI2Z) 220,0008 » 2CH4 440
02 3524l 1,980 3,180 A 1,200
ootskza ZIIFEI S22
25,000& = 30 = 12&€ 900
oY -2 A2el 30,0008 x 304 x 12& 1,080
206 T2 H 3,279 3,279 0
01 X2t 3,279 3,279 0
Oz&a ¥ HALES 2,424
ERR=IN 7,000& * 6O x 128 504
Ost& X 3,470& * 52 * 6 A& x 12& 1,250
oMgolIsE 1,860& = 300 = 12& 670
od - -2 SEZ 16,500& = 302+ A 495
OR& NsEEI 2B2F 360
Obl< (th) 100,000& * 28t A 200
Oodlg (a) 80,000& * 28+ A 160
307 ©12+0I & 2,400 3,000 A 600
05 A2t &= 2,400 3,000 A 600




SN BMDSA HFEAYLECAH
HM: DDCAD 29
CHel: MBET MY (EERED
- _ _ RE!
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | PERNEETEYS 200,000% * 122 2,400
SATHRAR2Y 70,406 50,023 20,383
CARX2EE 15,012 50,023 A35,011
201 YUBH2 Y] 1,512 28,423 A26,911
01 AL 22/ H] 1,512 21,276 A19,764
oOFI|IAHSRE 1,512
O=YX 15,0008 = 3IHAF * 128 540
OX g Xl 13,0002 * 29HAF * 128 312
O 2K 11,0008 = 5IHAF * 128 660
206 X2 HI 1,000 0 1,000
01 X2l 1,000 0 1,000
OEMB2BRE 1,000
ORFID Tag 50080 = 1,0007H 500
OSteEX 2 95 5002 * 1,0000H 500
405 RHAHE S H 12,500 21,600 29,100
02 =AY 12,500 21,600 29,100
OT AT 12,5002 * 1,000 12,500
CARRFTZOHSY 16,300 0 16,300
201 B2 Y] 16,300 0 16,300
03 HAI 2 HI 16,300 0 16,300
OSNSTZIY 29 16,000
OAALY 80,0008 * 10JHEF 203 16,000
OS A2 = A 300
OALY 300,0008 * 13| 300
lagzaey 30,288 0 30,288
101 @124 4 29,048 0 29,048
MIIZR2ZNEES 29,048 0 29,048
ONBHZ YL =L N2 20l
46409 * 2% * 262 * 11 25,535
CEEEDIEI 200,0009 * 2% * 23] 800
O4HAIBI B 2 2,713
O=oloiz 2g2 25,535,0002 * 4.5% 1,150
OALEEZ 2YZ  25,535,0008 * 2.995% 765
OFIQALEHE 22 75,0008 * 6.55% 51
ONEEEZ2 B2  25,535,0008 * 1.5% 384
OMTEEZ 2Y2  25535,0009 * 1.42% 363
201 B2 Y| 650 0 650
01 AL 22/ H] 240 0 240
OARE Y 20,0002 * 128 240




Jio Ob o8

MDER FF
BTN 2Y
NEVELE-

FANURLETA B

SN HH-S(BN) - MBAY - B il HlnE2
02 2=22Z 4l 410 410
OF=SlR-IE == 410
Ost=2E M2 110,000& * 13 110
O2sEM2 300,000& = 13l 300
206 M= Hl 590 590
01 MHZ 4l 590 590
oOtl=3&ds 440
OJtexZelgel= 80,0008 * 55 400
OJtEZeHZeH 8,000& » 58 40
o0Z+=Z EX 3,000& » 50 150
d2R X2 8,806 8,806
201 L2l 6,656 6,656
01 At 2t 2l 215 215
OZBEHEU(ZEXNZAY)
105,000& = 1CH = 13l 105
OZBEHIHMEH (H2RE)
110,000& = 1CH = 13l 110
02 =224l 6,441 6,441
od=zd=J| 7X&2ld|
30,000& = 104 =123 360
O=Y¥3 FAHE 200,000& = 23| 400
oxHE, == 4= 200,000& * 13l 200
oHYRIHl  1,3056& * 2028 * 204 = 1052 5,481
206 24l 2,150 2,150
01 MHZ 4l 2,150 2,150
OFANZZIESE(EZS2 938)
50,000& * 108 * 23l 1,000
Oz & HAES 1,067
OgeH 7,000& * 400 * 12& 336
OMgIlsE(50L) 9302 * 1600 » 12& 179
OsclMER 3,000& * 18 = 12& 36
Ost&E X 3,470& * 38 * 400 A + 128 500
OHMI==Hl % 800& = 20K 16
ode=xl =54 16,5003 » 5 A 83
2 QAU (BHLSHA FFANELLEENZ) 321,315 282,843
2oy 34,447 34,447
24| 34,447 34,447
101 124 dl 34,447 34,447
03 RIAHAZZ2TE = 34,447 34,447
O3 B (AMNMEZH) 34,447
OJles 1,795,000& » 18 128 21,540




SN BYDSHE FTAYLEHB
M. HMSAAH (BMNSE HFIANEHSTAH)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oz 179,500& = 19 x 12& 2,154
OEsEE 100,000& = 1Y = 12&€ 1,200
OJFA X & Hl 125,000& = 19 » 12& 1,500
O=&t| 120,000& = 1Y = 12&€ 1,440
OnsEE x| 120,000& = 1Y * 128 1,440
OY ZE =t 1,077,000& = 1¥ x 23] 2,154
Oxh=22¢ 176,000 = 1Y x 12&€ 2,112
OAX==& 75,5803 * 19 x 12& 907
Jl=3 bl 286,868 38,472 248,396
Jl 2 AH| 286,868 38,472 248,396
201 Bt A H| 258,908 19,932 238,976
01 AR 22l ] 22,798 19,932 2,866
OJlegRsa8 A 9,694,000& 9,694
O3 &l 11,088,000 11,088
ojEEsE 336
OsYX 15,000& » 18 » 12& 180
ORI K] 13,000& * 182 * 12& 156
OFHIAHE 2R= 120,000& * 79 * 23| 1,680
02 332t 236,110 0 236,110
oRWER2 2,248
Ot 290 * 1,200= 348
OS2I 1,900& = 1,000 1,900
odII=2 196,751
OJl2=2 6,990 * 5004 = 183kw » 128 76,751
oMNseEeZ
100& = 5J0 A = 20,000kw *x 12& 120,000
oMol 22 1,600& = 800m = 12& 15,360
(OPNE=PNE=R= 800,000& * 1CH 800
© Xt Xt Al 100,000& = 1CH 100
O HIIBAZ 100,000& * 1CH 100
oOxed U 4,000,000 = 1CH 4,000
OX&EEH L IHHADEH|
2,500,000& = 1CH 2,500
o=t E2 2,200
OHE2 (T 22 44HA)
200,000 *5IHA * 23] 2,000
OXtsitE 100,000& = 23] 200
OUNERUBLZ (LT A2 4 A)
350& * 22,350m 7,823
ONX=2 A A2l
3,700,000& = 801 * 8% 2,368
OKEEUSS (4MA) 20,000& = 6CH * 12&€ 1,440
O&=+J| wA22l 35,000 ~ 10H ~ 12& 420
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